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2N SXED
FM: MSAGHLLXNGLH (MY - SAIHLNUX/MHIE < 3h)
S HANYLBUR (er:@e)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
SAE e 9,643,632 1,304,178 8,339,454
s 860,000
< 3,247,000
Al 5,536,632
HSAMNGHL LN SN (A - SAILLO0 L X/ A A 1,326,150 202,600 1,123,550
£.05%)
as 860,000
< 340,000
Al 126,150
dEtAE =L R 1,326,150 202,600 1,123,550
s 860,000
< 340,000
Al 126,150
S EFARR OH & 31,150 52,600 A 21,450
201 L4l 31,150 34,600 A 3,450
01 At 2t 2l 5,150 6,600 A 1,450
ODlHE=HUM MAFTEDNS § UE R
10,000& = 508 * 23| 1,000
OBHNLS 98 BT L NE 2Y
50,0002 * 38 150
OO0lIcHE S H AtH =& XL Ol 4
10,000& * 4002 4,000
03 & Ar2 Z I 26,000 28,000 A2,000
OUMSH2E AHICT S EH Mz
8,000,000& = 13l 8,000
OEEHN 2242 29 18,000,000& » 14 18,000
()X I SMROZZIH 3 100,000 150,000 A 50,000
< 30,000
Al 70,000
308 XXIEHHSOIA 100,000 150,000 A50,000
< 30,000
Al 70,000
3/ 2SoHetE & X A I 100,000 150,000 250,000
Od= 33 HIIIs3IUsl
100,000,000& * 14! 100,000
< 30,000
Al 70,000
(2VHASALSEE NASIMYT EAHE 25 22 1,170,000 0 1,170,000
as 860,000
< 310,000
402 RIZ2EX201 A 1,170,000 0 1,170,000
as 860,000
< 310,000
02 LA THEALEZ(0IETHR) 1,170,000 0 1,170,000
ONYgDNY BHE 75
1,170,000,000& * 14! 1,170,000
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2N EXESD
Zal: @eAl

AP UX AL (AL - SADAUNWHK/MEERE - DEF)
Sl HAANLLBURX (er:@e)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Fag 860,000
& 310,000
ANEZZE EZSXNH(2IHEHXL) 25,000 0 25,000
403 XX SHHS K201 & 25,000 0 25,000
02 BI2SHUSXA=2EAEAISHI 25,000 0 25,000
OANEZE 25 22 X&
25,000,000 * 14! 25,000
IHLEXNSA (M - SAIHLHNHX/AYGEE - DS 7,541,192 562,683 6,978,509
3t)
= 2,880,000
Al 4,661,192
JEYLEXNSX 7,271,960 441,529 6,830,431
= 2,880,000
Al 4,391,960
JE s 71,960 63,450 8,510
201 LBt ]| 28,880 46,370 A 17,490
01 AP 22| H| 16,880 27,370 A 10,490
OEXNRI EES M (4SS 21 S)
10,000,000& = 14 10,000
ENSXIIYE 202 3,000,000& * 1A 3,000
OAEXNSI SE& 700,000 = 2H 1,400
OSXRIAVE 5o &4 +2
70,0008 = 7 * 23| 980
OFEXN & JIgax HEZE & U=
500,000& * 33| 1,500
03 A2 G H| 12,000 19,000 A7,000
OEXNSXA 293 <L MU HZ
1,000,000& = 23| 2,000
OJIGRI(HHYE B2 S) 2455 /A
F3AE M= 10,000,000& = 13l 10,000
301 et A= 23,080 17,080 6,000
09 HAIAHI X &2 13,080 7,080 6,000
OFEX & JIgsx &8 012+01 Hl
90,000& * 4¥H x 33| 1,080
OJYEI(HOHY 22 S) 243512 A8t
Tz BAX AHl KA(1%2Y)
120,000& * 100¥ = 13| 12,000
12 JIEtE2 A= 10,000 10,000 0
o2z X OFEEHIIA=2 1,000,000& * 10¥ 10,000
307 2Iz2t0| & 20,000 0 20,000
02 QIZHE AAIE E X 20,000 0 20,000
OMNGOHNMT Al AES Q8 J|1Y AHNMALET
29 I (BXE 80%)
25,000,000& = 141 %= 80/100 20,000




M EXAE L
FH: JGLENRA(AMY - SAILLUHUX/MHTE - DES
&S JIYEENRI (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
(D)EXIILURNAEEEZ 7,200,000 378,079 6,821,921
< 2,880,000
Al 4,320,000
402 2I2H X201 M 7,200,000 378,079 6,821,921
< 2,880,000
Al 4,320,000
02 2IZE 2 A EZ(OI XM TH ) 7,200,000 378,079 6,821,921
OFAIIY eldEE X& 7,200,000
—(F)HOUOE(SFEAAHE A 3,0002 &)
7,200,000,000& * 14 7,200,000
< 2,880,000
Al 4,320,000
SSMGFA 100,000 26,000 74,000
S3I2= X 100,000 26,000 74,000
207 A O H] 100,000 18,000 82,000
01 289 100,000 18,000 82,000
OZ=Al OOl 280134t SHAAH &
g Jl=8d9 100,000,000& * 14 100,000
22 A ALY =& 169,232 95,154 74,078
Sl2ds2dH I dAME 169,232 95,154 74,078
101 @124l 5,232 5,154 78
04 JIZHHZ2XNESE S 5,232 5,154 78
OBJSHFYLX MEHY S o=y
69,7603 * 5 * 5& » 33 5,232
201 Let249] 14,000 0 14,000
01 At 22/l 14,000 0 14,000
O3JI2F S 2R W2 MEsds
4,000,000& = 14 4,000
OZIISHELLN 2 2HEI} 42
10,000,000& * 12l 10,000
401 AIEHI L 20 150,000 90,000 60,000
01 A& HI 150,000 90,000 60,000
O3JI28FAHN W X2 IXNLI| SA
1,500,000 = 50a 75,000
OBILSFHF LU W =X (ateis2 &)
EE IS A 1,500,000& * 50a 75,000
MEHTNRNLSLS (S EL RGN L /AL EHRI) 545,376 122,421 422,955
< 27,000
Al 518,376
&b EHX] 22 545,376 122,421 422,955
< 27,000
Al 518,376
A S XTAIE FZHI 455,376 57,421 397,955




2N SXED
Hu: MUCRANLSY (IELNANL/LAESN)
el ArgeXizel (22 &d)
= — = 4 &
SH BB S (3H) - NRAY - BAS of 4 o4 il HI RS2
101 @l H] 6,976 9,621 A2,645
04 JIZtNZ22XNSE+ 6,976 9,621 N2,645
OLpraAER Jt2+ FH 2 = HA
69,760% * 108 » 5& = 23 6,976
201 2erE Sl 8,400 7,800 600
02 s3=29Hl 8,400 7,800 600
Odgel Jt2s dJlRs
10,0002 = 708 =~ 123 8,400
401 AlEHIZ 20 8] 440,000 40,000 400,000
01 A€ dl 440,000 40,000 400,000
OLEHMAET] JIELAIEE 22
10,000,000 * 40§ £ 40,000
OMEXI 7 LEHaAER SPE MY SAH
=) 400,000,000& * 14 400,000
(T)YBAMATRBRALSH Y| 90,000 65,000 25,000
S 27,000
Al 63,000
401 AlEHIZ 208 90,000 65,000 25,000
S 27,000
Al 63,000
01 A€ dl 90,000 65,000 25,000
OE=LErMAEX W E2HEE SA
90,000,000& * 14 90,000
S 27,000
Al 63,000
NEANSRA2G (LBt /LEEH) 89,934 106,320 A 16,386
NSARL2E 89,934 106,320 A 16,386
NEARLZY 89,934 106,320 A 16,386
201 Yot Y| 82,984 72,720 10,264
01 AtR 2t 2l | 53,584 57,920 N4,336
OSASX 7l (Ad)
16,000% » 28tA « 12& 384
OArE =AY 30,000& ~ 123 360
Oa72 =4t 1,640
—ZREII(SH) EU
200,000& + 32| = 10H 600
—DeIEII(Zd) EY
200,000& * 33| « 1CH 600
—ZEHI el 100,000& * 204 * 50/100 100
—PC =2l 100,000& * 204 = 20/100 40
—HA(ANE) 2 100,000& * 23| = 1CH 200
— JIE #=2lyl 50,000& = 23| = 104 100
OAMRd Xtz 2,500,000 = 12& 30,000




SN EXED

X{ XH -
S =

M. o (BH) - HSAY - BAS il HZS2
OXE=A A2 750,000& * 2904 = 128 18,000
OMPA ATt REM AN 222
500,000& * 13 500
OAMEA FX22H
100,000 = 1A x 128 1,200
OARa dUHES2 EEE2E=
1,500,000& = 14l 1,500
S329H| 14,400 4,800 9,600
OANSAMNEAL AR A 22/H]
1,200,000& = 12& 14,400
SHAF2 A HI 15,000 10,000 5,000
Os - S&3 22H8AIE Al 15,000
—&AH2= 1,200,000& = 7 8,400
— X2 (&M, 25 ) 100,000& = 2204 2,200
—E2EE(HA L A& 5)
500,000& * 4= 2,000
— L (A L ED) 60,000& * 54 300
—E8HAI EXR 100,000& + 39 » 7¢ 2,100
A R =X 4,500 5,000 A 500
ABMFEAAHRF=EXY| 4,500 5,000 A 500
ONEMBEAL RN 4,500,000& * 14 4,500
QetgE N2 1,000 6,500 A5,500
SHALAIHI X & 2 1,000 6,500 A5,500
Os - SME E28Ag &AL O M2
5,000& x 2004 1,000
XH&HE S HI 1,450 2,100 A 650
&Y EEFHSHI 1,450 2,100 A 650
osle g gxt 500,000& * 1H 500
Oz2g 2Rt 10,000& = 102 100
OoA2IlE 8 250,000& * 1H 250
O20H(32 &) 600,000& = 1JH 600
L HI (S XFESE0F) (D1EF/DIEL) 140,980 146,966 N5,986
ull 68,188 64,510 3,678
A2 AY| 68,188 64,510 3,678
ol d| 60,838 57,160 3,678
02 JIEt& E % 60,838 57,160 3,678
OAIZPHE T DM (JIZ, g ) 55,840
-9 61,063,0002 * 1 * 35/40 53,431
—N2aRsY
14,0723 * 10AI2t = 1H = 128 1,689
—tE=Y 720
S| =D 40,0003 * 1¥ = 12& 480
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L HES D
MM HNSHBU(EXNE =) (IIEH/DIE
chel: ol gyl CEEEED
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
- JIEt 20,0008 * 1H » 128 240
O&FHZAHI 140,000& * 198 = 12& 1,680
OH I8 AtY|
4,452,590 * 84% * 86% * 1/30 * 1/7 = 84 1,287
Al 2+
OMSIM Al 53,431,000& * 3.8% 2,031
204 &R = A Y| 7,350 7,350 0
02 A3 8 X4l 7,350 7,350 0
O3 EZXZHdl 400,0008 = 35/40 » 1& = 12& 4,200
ONMEMEA 222Y
300,000& * 35/40 x 1H = 128 3,150
Jl=23&3 bl 72,792 82,456 N9,664
Jl23Hl 72,792 82,456 N9,664
201 Bt A | 18,912 20,296 N 1,384
01 AP 22l Yl 18,912 20,296 N 1,384
OsAMEX P2 16,000& * 122tA x 12& 2,304
OSZ20iAaldl 7,000& * 64 » 128 * 12& 6,048
Ogte2 100,000& * 12& 1,200
OATARE EAHAFLH| 50,000& = 12& 600
OAxRrE2 =44 8,040
— Z2AP(HEY) £2l 1,000,000& * 104 1,000
—Z2EI %2l 100,000 * 4CH = 50/100 200
— SA EY 200,000& = 53] = 104 1,000
—Z2EHI(EY) EY
200,000& * 53 = 404 4,000
— ZD2lEI(E) EY
200,000& * 53 = 104 1,000
—PC =2l 100,000 = 12CH = 20/100 240
— J|EF =2l H]| 50,000& = 12& 600
OJIEF AFR 22| 5,000& * 12¥ x 12& 720
202 04| 49,680 57,960 N 8,280
01 2L Y| 49,680 57,960 A 8,280
OEX&2) HR=X ] 49,680
— 2o bl 20,000& = 129 * 122 = 12&8 34,560
— 2204 Hl 90,000& *» 12 = 14 15,120
203 ¥R =&H| 3,000 3,000 0
04 EANSHLRF=AH| 3,000 3,000 0
ORANSELERFAH| 250,000& » 128 3,000
204 &2 = A H| 1,200 1,200 0
01 P R-HAY| 1,200 1,200 0
OB IALAHAY| (EX A SN E)
100,000& * 1 = 12& 1,200




